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i = X4 | wEy | = % :
fREET 10,349] 10652] 12,0000 22,652
=L} 1466 16950 18731 39681 | ,m= | 26512 | 28,169 | 30,894 | 59,063
& FeET 3,162 3,262 3,383 6,645
HA P BT 2155 2177 2,353 4530
KEHT 3.369 3,852 4174 8,026
Jt ¢ T 905 908 1,030 1,938
AR | 5084 55881 6027) 11615 | sms | pe490 | 28134 | 30840 | 58,974
&&t| 26490 28134| 30840 58974
X F A # & & A 0O
KF K 5 £ 5 K=F T 5 = E KF Gkl 5 £ K
AN 1,268 1,349 1,504 2853| | HEH 21 20 25 45 XA 25 21 26 47
[ 1,350 1,250 1,451 2,701 AEH 31 25 37 62 3] 0 0 0 0
= H 1,473 1,502 1,749 3,251 = 16 15 14 29 1A 408 443 517 960
25 1,336 1,431 1,595 3,026 L 14 12 20 32 XA 657 788 831 1,619
RES 1,166 1,197 1,331 2,528 =B 7 8 5 13 RUEN 247 275 306 581
INEE 906 889 1,008 1,897 KE 150 227 239 466 =t 85 77 99 176
I 276 271 306 577 E% B 111 136 122 258 ] 106 135 137 272
bk 461 487 530 1,017 KK 409 471 519 20| | FESE 123 150 177 327
TR 405 442 480 922| | IHEIS 71 91 98 189| | HEE 177 191 199 390
fit] 5 244 242 294 536 | RiEF 749 817 916 1,733| | REE 40 47 40 87
o= 1,464 1,592 1,752 3,344 &K 791 934 964 1,898 | FAEE 38 40 47 87
Bl 1,232 1,430 1,585 3,015 xE 862 859 934 1,793 5 466 476 472 948
e 234 265 288 553 mE 200 266 314 580 FR 322 349 394 743
&R 726 663 758 1,421 &I 26 51 68 119 =53 125 120 132 252
=YH 580 602 620 1,222 AR 245 288 297 585 JI| U5 148 153 151 304
=25 1,856 1,997 2,005 4,002 EH 195 186 243 429 e $3 63 69 74 143
B 44 1,303 1,407 1,512 2,919 KiH 75 68 80 148 IR 1,120 1,227 1,311 2,538
g} 489 441 488 929 | BEA 26 24 22 46 15 959 1,048 1,140 2,188
| i= 251 224 232 456 | B AL 17 11 19 30
NEH 23 25 20 45 ¥ 322 310 343 653




